89. Correct word for the phonetic transcription / b3:d / is

A bird B birdie C bard

D beard

90. Complete the sentence by choosing an appropriate word.

Old people sometimes feel that young people don’t

them or pay them enough respect.

A valuables B  valued C values D value
iv. semflgld — Mathematics
91. 66/2—12+(14x2)/7 + 3% 6ir &y
A 32 B 30 C 34 D 42
The value of 66/2 - 12 + (14 x2) / 7 + 32 is.
A 32 B 30 CcC 34 D 42
92. SupsserL Ulsrermiseafle Lsg g 61g) ?
A 24/25 B 63/78 C 69/72 D 52/57
Which of the fraction is least?
A 24/25 B 63/78 C 69/72 D 52/57
93. 7 x 8 2 L 6tT 6TM&HE Gn L lg6wTed 7 X 9 v SH(GLh.
A 1 B 7 C 56 D 63
What must be added to 7 x 8 to get 7 x 9?
A 1 B 7 C 56 D 63
94. umL& GMILlenetr alpelEBLOLILIGUIT
A savaSlumarisser B gewsvsoLownrIflur
C wum g8l 1 & Gupaisori D  au&GLrfinser
Lesson Plan is designed by
A Educational Experts B Headmasters
C Syllabus committee D Class teachers
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95. a=2,b = 3 eefle, (a + b)2 — (a2 — b2) sretrm CaHmemeuuiledr LI
A 30 B 20 C 24 D 12

If a =2 and b = 3 then the value of the expression (a + b)2 — (a2 — b?)
is
A 30 B 20 C 24 D 12

96. x +5=y+7, X,y €W eT601) FLOGTLITL lpM&T6aT Sirexg6iflear 6Tev01600f 185 6m85.
A 5 B 2 C 3 D >3

The Number of possible solutions for the equation x + S=y + 7, x,

y ew are.
A 5 B 2 Cc 3 D >3

97.69( 6uL_L SS6tT QYTLD @)(HLOL_MBISTEITT6V, LITUILISTE 6T5S6M60T oLl ISISifl& @ LD.
A 2 B 3 C 4 D 1
When the radius of a circle is doubled the area is increased by
times.

A 2 B 3 C 4 D 1

98.uELILEmMUNED 2_6T6T IEMETSHEIS SYHEDSSHEHL & (L&&6Tl Gawsu () shmis

@&meTEmLD (Pemm
A LBICSHED (Lpemm B aflglais qpemm
C aflglnflarse (pemm D 2 sirenLn 560 EHLISS60 (Lpenm

All the children in the class are engaged in groups and learnt
concepts. This method of learning is called.
A Participatory Method B Inductive Method
C Deductive Method D Simulation Method

99. gjen1T UL ST emLoils Casmevorio
A 90° B 2700 C 1800 D 3600

The central angle of semi-circle is
A 909 B 2700 C 180° D 360°

100.Glemiumig 6t ellGlampsmmuisy epsTmmid Lighlsmey gy 6T s)
A pullGlsmn, ameiuGgsans B T068I% & ps6
C Glrwsublsss6a D Glursy afls) sirsmse)

The third step in Herbart inductive method of teaching is

A Comparison and classification B Presentation
C Application D Generalization
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101.eu@Luemmuilsy semfls o &ifwflsr e s LstefliumsTs)
A  &BBE5I55m0E SHISE60 B 2 SIysouTsIsmeTs &(5E560
C  gGTaTyTS LTsooTsuIfleoT SMmmeYIss & GisnsoorLiflse
D @liysemars . ms6

The important role of a mathematics teacher in a class is
A Teaching the concept B Giving examples
C Acting as facilitator and helps the children to learn the Concept
D Dictating notes

102.819.8MM710 8 wentflemiug ST HIGUTE! (L &ER&SemL Gl aTar Gamemrin.

A enrGsrarnd B elflGeramn C OsmGsramn D Cri&sGsmsmrio

If a clock shows 8 O’clock, then the angle between the two hands
is

A Acute angle B Obtuse angle

C Right angle D Straight angle

103. wTs eu@mHLOTeTD 525,000/ Gumid mHUF. seuGlauT LTS er,.2000/—
CaLilsEmm steofled gjeumemLIL LTS CaillIL FHaIH0 sTeuasTa] ?

A 10% B 12% C 15% D 8%

A Person saves Rs.2000/- in this monthly income of Rs.25000/-.
What is the percentage of his saving is
A 10% B 12% C 15% D 8%

104. e, &8IT auigau L misTallng Cousdl 9|emnés e UL (56 eb.4/— afsL
em;.1600/— Gavaurdlmg) steoflsb Lymuigsmallsor LLiLsTe
A 10000 1f? B 1000 5 C 1000005 D 4005

The fencing charges of square shaped park is Rs.1600/- at the
rate of Rs.4/- per metre. The area of the park is
A 10000 m2 B 1000 m?2 C 100000 m2 D 400 m?

105. QaTRSSILC L &gITSSHeT uriusta 100 6% sTesfled HipsSL i’ L LGSufssr
Ly

A 155 152 B 12552 C 10.5 52 D 135152
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If the area of the given square is 100 m?2 then area of the shaded
portion is

A 15.5 m? B 12.5m? C 10.5m? D 13.5m?
106. 61, oo euL L Slear &mmeme| 36 Glg.L8. gser el L 1d (Gl&Li—ev)
A7 B 35 C 22 D 14

The perimeter of a semicircle is 36 cms. Its diameter (in cms) is
A7 B 35 C 22 D 14

107.8Cy QarhissUu’ (srer Ll emLullsy 2/5 Lk Hlpedll Geusior(hid sTeoT mEheFeorT
Cal(hs OamsTeriLlLmsT. 9o msartal 2 uGdsemer Hlpsdl (HleTarmei.
GLogyid T&S M LGSS6T S (hiGeums Hlpedl it Geussar (bl ?

A O B 2 C 3 D 5

Ranjana was asked to shade 2/5 of the strip as shown below.
She has already shaded 2 parts. How many more parts does she
need to shade?

108. gy’ LT TSI USSELD

A efereudl B eumememevdlnn C - gymwsmavglim D UimbGomsin
ASSMbHL

The book written by Aryabatta is
A Leelavathi B Aryasashtra C Astronomy D Brahmosphuta

Siddhantam
109. 33611 33 515D
A 10.99 B 10.79 C 10.89 D 10.69
33% of 33 is
A 10.99 B 10.79 C 10.89 D 10.69
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110. pmpeilLLb em.18/— 2_6Targ). 9|0 5 emLITL LOMHMID 2 eIHLITILI HTEUOTLLRISET
LLBHGL  @mEser refld  geueflLld @@mBS 2 emumil HTesrUbhIsefleor
6T6t0T 60011 S6M 8>

A 3 B 4 C 5 D 6

Ramu has a few 5 rupees and 2 rupees coins. The total value is

Rs.18/-. The number of two rupees coins that Ramu has
A 3 B 4 C 5 D 6

M. @, gjemmullear Herid 30 L MM gy&6vid 20 L sTesfled @b jemmeniu ML
20 &8, uriueTe|s Q&TeTL T&H&menT SemHEITLLlgsT CaHmeuliLibhid ?
A 20 B 10 C 50 D 30

The length and breadth of a room is 30 m and 20 m respectively.
How many tiles of 20 m? area are required for that room?
A 20 B 10 C 50 D 30

12. 9|H550\S8! UL TCSHEID eLpsiTm (PSSl sn(hiSeb 45, eTerflsd I|hs
PPSS6T
A 12,13,14 B 13,15,17 C 14,15,16 D 15,16, 17

The sum of any 3 consecutive integers is 45. Then the integers are
A 12,13,14 B 13,15,17 C 14,15,16 D 15,16, 17

113. 0.2727....... +0.7373. . . . 67 &l

A 1.0101... B 1.01 C 1.000... D 1.0202...
The value of 0.2727 .. ... + 0.7373. . ... is
A 1.0101... B 1.01 C 1.000... D 1.0202...

114. e(w eTevoreunfledr 5 LOLMiGL 6T 5 8 en L L SlevLLILg) 55 sTevfleb, 9j6rGleuenoT

A 1 B 30 C 65 D 10
If 5 is added to 5 times of a number, which results 55 then the
number is
A 11 B 30 C 65 D 10
115. L 3 LmmILd € = 8 srenfllsd ath 60T LOGILILY
a b b+c

A & B i C g D 2

27 27 27 27
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Ifé = 3 and £= 8 then the value of atb is
a b b+c
A & B i C 2 D 2
27 27 27 27
116. x |3 |5 |7 |9 |10

y |6 15 |28 |45 |60

GLoGev 2_6iTarr ASEUTTRIGET 6TELIRIEME LOTM6Jl6D 2 6iTerTeaT ?
A Griwmmed B erdiommeyy C  sl(omms) D @lmeu sgiLhlsvemen

x |3 5 |7 |9 10
y |6 15 |28 |45 |60

The proportion of the above set of values is
A Direct B Inverse C Mixed D None

17. Cam_(h& Si6tT(h&(G) 6TSHSHEM6T LIS GHSSS CHT(h&6T 2_6uor(h ?

A1 B 2 C oeeoremorpm D 3

How many perpendicular bisectors are there for a line segment?
A 1 B 2 C Countless D 3

118.7, 9, 12, 8, 9, 15 e16ttm elleunmus @pssmer sqrsifl, @i flemev Hmih (p&LTaTS).
A 8,9,9 B 9,9,9 C 9,9,8 D 9,89

The mean, median, mode of 3, 7, 9, 12, 8, 9, 15 is
A 8,9,9 B 9,9,9 C 9,9,8 D 98,9

119. 20 @lwiev sTetoTS6ITl60T OIF &
A 18 B 20 C 19 D 21

Range of first 20 natural numbers is
A 18 B 20 Cc 19 D 21

120. semllss580 fnhgl aflemis CameailiLibhioalg.
A MBS LHNID Si&s FHUl SersdlemnsT 2 (HaTs @S0
B &ausslhiselin Carmbaalnma allemmhi@ass
C tgH5Smisemer LerlumLLd Cl&iige
D &iasemer [Hemeare| & mige

To be good in mathematics, one need to.
A create & formulate problems through abstract thinking and
logical reasoning
have mastery over calculations
memorizing formulas
remember solutions

oaow
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